Unit Two Review
North - South

Student Name:

(Pg 87 - 108) Text
Total Value (52pts)

All answers shall be written on loose leaf paper (19pts)

Part One: Define the following terms:

A. First World

B. Second World

C. Third World

D. Latin America includes what territory?
E. Sustainable Population p93

F. Colonialism p96

G. GNP p89

H. PQLI p90

I. "Balance of Trade" p98

J. Neo-colonialism

K Commodities p97

L. Exports p99

M. Recession p101

N. Disparity p88

O. Sustainable Development p107
P. Green Revolution p106

Q. Bilateral Aid p102

R. Multilateral Aid p105
S.NGO's p107

Part Two: (33pts)

1. Explain the ferm "North - South”. (2pts)

2. In one paragraph describe "The Gap" p88 (3pts)



3. Explain the difference between GNP and PQLI. (2pts)

4. If your country has a high GNP, does this mean all citizens are living comfortably?
Elaborate. (2pts)

5. Provide one positive and one negative effect caused by population growth. (p92) (2pts)

6. Politically speaking, provide two examples of the effect the "Cold War" had on the
global disparity gap. (p92-93) (2pts)

7. Would curbed population growth alone significantly reduce the world's natural
resources dilemma? Explain with examples (3pts)

8. List three key historical events that contributed to the North - South disparity
problem. (p94-95) (3pts)

9. In at least one paragraph, explain how colonialism caused the beginning of the North -
South economic gap. (p96-98) (3pts)

10. How is it that "Neo-colonialism, for the most part, failed to close the disparity gap?
Elaborate in at least one paragraph. (p99 -101) (3pts)

11. Explain Brazil's plan to close the gap. How successful was the commonly practiced
idea? Elaborate (2pts)

12. Are First World nations doing enough to help Second and Third World nations to
develop? Provide two examples of aid tactics from rich countries. (p102-107) Hint
Look at what Canada and France did in an effort to “help”. (3pts)

13. How was the period of neocolonialism different from the previous period of colonial
expansion? Compare and contrast the problems associated with each system. (3pts)



